Binomial Theorem - Class Xl

Past Year JEE Questions

Questions

Quetion: 01

The term independent of x in the expansion of
g 3.0

(.010— %‘il) (2x*- 3) Tisequal to :

A. 36
B.-108
C.-36
D.-72
Solutions
Solution: 01
Explanation

. . 6
Given expression = <610— g‘fl) (2= 2)

: 6 5.6
= 20— 2) - (2P )

So its general term is

-1 261 _ 3 \7 _x® 26— 3\T
Tre1= 60Cr(29)7 (-2) - 500 () (-2)
= dPC 20 (=3)x 1241 L6¢,(2)0(-3)7x20-47 (i)

For this term to be independent of x, put r =3 in 15t partand r = 5 in 2nd part.

So from (i) the term independent of
X = dox 23% (=33 0C3 + (- &) (-3 x OC5
=-72+36=-36



